
As exemplified in the joint office hours today, the following are some typos’ correc<ons 
regarding the second part of the notes here: 

 

1. In page 9, the term   in the expression 

 due to the obvious reasons of 

conformality should be replaced by the correct  (or equivalently by 

-why?). No<ce that in page 23 the criterion is correctly expressed. 

Analogously, wherever the term  and the term  appear in 

page 10, they should be respec<vely replaced by  , and   . 
2. Due to reasons of nota<onal conformality (essen<ally the result remains unchanged-

see below) a more correct nota<on for the expression  in page 16, is 

, instead of . No<ce though that 

 resul<ng in exactly the same 

expression for the first order condi<ons with the one using the expression  
already in the notes. So, it essen<ally does not maPer which one is used and in case 
you need it you may use either. 
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